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2.2.12

Syntbetic general value and actual survey value of walking velocity

m/sec
Level walkig Condition m/sec S.G.Value
1.750=40.150
High
1.400=0.100
26 5 9 Male  Normal
May 1951 Sep clear weather 1.100==0.200
. Low 13
Individual 1.500+0.200 '
High
1.200=+0.100
Femal  Normal
0.950=40.150
Low
08 14 / 1.000=0.100 1.0
Density '
4.0 0.110
6.0 0.100
70 0.097
Multitude 8.0 0.093 01
Move in a close formation '
9.0 0.090
105 0.078
12.3 0.072
=< /sec /sec m/sec
. . . length of incline Length level :
Staircase way Gradient Tread><Riser per sec, per sec. S.G.Price
34< 300><200 0.720 0.600
28< 340><180 0.690 0.624
27= 324><163 0.730 0.647 0.65
Individual ’
24<= 330>=<150 0.777 0.708
16< 680><120 1.390 1.270
34<= 300><200 0.600 0.500
28< 340><180 0.554 0.498
. 27< 324><163 0.584 0.518 05
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